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11,

12.

13.

2) Ele - S are
ECtrong Opantg
pemt e mainmn: '
ent at. JOTI by Ay a
(3) - S ——a Omg ar arriers and
f'l.ectrons are the\e\t—!%
r L .
ACCTE ooty carriers and
atoms ape 41 Y carpigpe
% ants Sand trivalent
A sma]] 1, |
Prosentoass of area of o
Of Ficigh 5 e botiongf gy ouion 2 mm? is
8t 2y : m
O Wit they, g (oot €= 10mF proc o a0k
€ Open h
@»H 9 WG e ole would he nearly :
@ 6.4x10-6 e
@) 12.6><10»Gm3/
@ 89x10-6 me
+6V
0 R
A1
LED (y)
0 R
B 1
The correct Boolean operation represented by the
circuit diagram drawn is :
(1) NAND
t/éz)/ NOR
3) AND
@ OR
A hollow metal sphere of radius R is uniformly

For 4
“type se
ic
statements is trUOr})ductor, Which £ 3
3 Of the following

HOleS .
dre th
Penty S majg.:
Va en atom Otl:l’llt ;icarriel,s and
e ==
N

charged. The electric field due to the sphere at a
distance r from the centre :
s rincreases for r <R, increases asr

(1) Zero a ;
increases forr >R
(2)  decreases asr increases for r <R and for
; Sk forr <Rand f
< 1T < U and for
. » increases for
increases as

r>R

ases for r <R, decreases asr

@)

>R

15.

16.

172

@

R d

A particle moving with velocity {)[ is acted by three
forces shown by the vector triangle PQR. The
velocity of the particle will :

12
R Q
(1)  remain constant
change accordin QR
g to the sm
R allest force QR
4) decreage

: ease in te : :
A]*2.2)(]_0~5K_1) Cu Pl 0 Kl and

D _ 88 cm

68 cm
@) 6.8 cm
@ 1139¢m
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21.

22,

NP h same
-particles wit
a and a-p? 63
S1 hydrogen atoms 8 licular to a constant
fonized B nters perpent - .} ir radii of their
momenta ¢ 1d. B. The ratio of their r:

~netic field, -
magne

L Bo ¢
paths ry - T will be

185.

ss M is sus db
/hen a block of mass M {E,_Qquendf 2
V\:L-l.}%gﬂgngth L, the Iength of the wire

y a long
19.

becomes
(L +12). The elastic potential energy stored in the

= 3 D e b
extended wire 1s :

1 Mg

P il gl

L MeL
Solnincy
Mgl

—_——

(€))

@

3
@ _Mgl,

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
0f2.5x 1072 N/m. The pressure inside the bubble
equals at a point Zy below the free surface of water

In a container. Taking g=10 m/s2,

density of water = 103 kg/m3, the value of Zgis:

@ c :? s )(( o

2 05cm : : s
2ol 4= (QMNs

() 100cm -3 g 5 5@

4 10cm O

A disc of radius 2 m and mass 100 kg rolls on a
horizontal floor. Its centre of mass has speed of
20 cm/s. How much work is needed to stop it ?

@® 2J ey

@ 19 2w QLMQN
@ 3J I Lies

@  30kJ

T}’VO Particles A and B are moving in uniform
Circulay motion j

( D concentric circles of radii
cAand rp with gpeeq A and v respectively. Their
time perjoq of ro

tation is the same. The ratio of
angular speed of A 1, that of B will he -
¢ I it :

| g RN
pAT O
i Ny Uy

S

(4) UA o UB ’

23.

25.

26.

217.

The unit of thermag) (:r.mlurtivif\; 1
.. LY 18

(1) WmEK-1

(2) WE‘»- lK—-1
'l/(}k/jm K=

4) dm-1Kg-1

Measurement X where X = f“)\3‘ i
C'lﬁ D3 » W1 be
@O —10%
) 10%
3
3 — %
@ ( 13) 0
@  16%
Increaseintem

@
@

decrease in itg Pressure

decrease in Intermolecular distance

* (3  increasein 1ts mass
.\g)/mc:.ease Inits kinetic energy

Which of the following acts as a circuit protectior
device ?

1)  swite

(2)~"fuse

3)  conductor

(4)  inductor

Average veloeity-of-a-particle executing SHM

one complete vibrationis:

Aw®
AR
@)  zero
Ao

2
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28 Tw
O S1m .
feach\%l equi-c 5 .
» dre kept Y OnVeX lens . . d as shown 1n the
su @ coaxiglvic— €8, of focal | ' lar bulbs are connecte :
F _Ch that the fooz) iugﬁc\o?fmith eachi)rtlgg; s fsi;;;nvlvllg . DC source of emaf E, and zerointernal -
Ei-lled Witehn‘ e SPHﬁ\Vg& EBE" combination is resistance.
.mdex = cery Rig asr;}fhfﬂgle@% is VTI"h”_:'_—-(—)f s ion by tbg.pylbs when
foca] 1 '5.) asthat of 1 € same refractive SR s d (ii) in the situation when
€ngth 1s R, T g a.SS) then the equivalent, @) _31] are glo“flngjij,l 2\ £ mg—"‘are
® 2.4 % “HeTatio B, : F, wil) be - | two from section A and one 1rom == =
: ; ' glowing, will be :
@ 3.4 Y lL_\; glowing, Wil b€
@ 1.9 N
29, Whi
lCh Colou
Wavelengt}, 7 r of the light has the longest
@ green
® e ——l—
red
“ blue (@) 2
@)
30.  Two point char (6))

4:9
+Q and =0 geStA and B, having charges :
: spec X : X 9-
distance TR pectively, are placed at certain M4

F. If 25% ehas nd forcg acting between them is .
o charge of A is transferred to B, then | 83. The total energy of an electron in an atom in an

force between the charges becomes : Qfms linetic and potential energies
16F are, respectively :
@ 9 (1) 3.4eV,—-6.8eV
2 34eV,34eV WQ
@ %F @ —34eV,-34eV
4 —34eV,—-6.8eV
@ F

34. In total internal reflection when the angle of
0 —————— T HAG &

ok incidence is equal to the critical angle for the pair

) 16 of media in contact, what will be angle of

refraction ?
el

' - : TS
31. When an object is shot from the bottom of a long P@M@MCQ ‘
ane kept at an angle 60° with @ 90 W\
\

smooth inclined pt:

horizontal, it can travel a distanée x; along the’ 9 180°
ﬂmn the inclination is-decreased to ©) RS
30° and the same object is shot with the same_ @ &
velocity, it can travel 5 distance. hen x; : %,
ha il /b ' 35. A mass m is attached to a thin wire and whirled

iy /4 . in a vertical circle. The wire is most likely to break
L 1: J3 / o _When:

(1) the_gﬁg_iw?ft point
2 1 2\/§ )Q’ )QL % inclined at an angle of 60° from vertical
\—-\—
@ 1: J2 3 0 (3)  the massis at the highest point
- —-————\_%_—’

(4)  the wire is horizontal

l/«’/ﬁ:l
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43,

In the o
ceruit
v S show
oltmeters and thz“ 1 beloy. the readings of th
fasifL g of the

Mmeters wil] e -

10 O

10V
@1 Save — Circuit 2
. 1=V, anq s
) Vs >V, and ; F
® v L >,
2>V1 and i1=i.
(€] \Vs 2

=N and . ~
2 and i >,

44, Two paralle] infin: :
charge dengit Inite line charges with linear
at a distanc gl ,C/m and — \ C/m are placed
electric fielfl of .2R in free space. What 18 the
chargeg ? mid-way between the two line
A
1 —
(V) o N/C
A
2
@ 2megR N/C
(3  zero
2\
@) N/C
TTEO
45.  In which of the following devices, the eddy current
effectis not used ?
1) magnet
(2) electricheater -
3) inducﬁon furnace
(49  magnetic braking in train
W
46. Cellsin Gy phase:
(1)  suspend the cell cycle
Mminafe the cell cycle
(3) exitthe cell cycle
(4) enter the cell cycle

48.

49.

50.

51.

l)z)/ﬁenon of GGU from 7
s -t = -~ o
positions

ually tr

1g sex s
able *

which of the follow1l =
diceases is not complctel} cu

Genital herpes

(D
(2) Chlamydiasis
(3) Gonorrhoea

Genital warts
f the following conditions W i1l t.h@ :
reading frame of following

Under whicho

be no change in the
m‘RS A?

5 : AAC ctH
57 AACAGCGGUGCUAUU 3 =
(15 ‘ Inse_;rjiguof;\gnd Gat 4th and 5th positions
1‘espective]y
th gth and gth

Insertion of G at 5”“ position

6)) ;
4) Deletion of G from 5th position
Which one of the »folloxxiqg,eg@pmexlts is

essentially reLujr_ggl__ilOI' growing mlcr9bes on z:)
] production of enzymes !

large scale, for industria

—

(1) Industrialoven
Bic;reactor
(3) BOD incubator
(@)  Sludge digester
From evolutionary point of view. retention of the
female gametophyte with developing young embryo

on the parent sporophyte for some time, is first
e — O e el
observed in :

teridophytes
@) Gymnosperms
(3)  Liverworts
(4)  Mosses

i‘éi_liiﬁl—th-e COI;re;:t pair representing the
causative agent of typhoid fever and the
confirmatory testfor typhoid,

@

Salmonella typhi | Anthrone test

@ almonella typhi/ Widal test
®  Plasmodium vivax/ UTI test
(4)  Streptococcus pnewmoniae | Widal
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was 0|
flower" '
on), 1 oneratio® :
2 Annrrhmum (50 8n /p_____ffﬁ-d A
6l.  Select the incorrect statement. 6. "I'r—é—s_//s_—efd/_;at M owed white, € ‘
D — 5 Jomests Tk Qowers Were ST jon sho ect statemer’
L domesticated fowls, gex of progeny pink === —— it )eﬁz-g n
epeng ere selfe W
—Dends on the type of ¢ Sperm rather than bt H/ﬂ Wwers.
88 R "B,El%k;f Jlowing :
) from the 2
®  Human males have one of their |~ s (Pmk) (whlte)
osome much shorter than the s (REd) 4
othey. »\"‘han_t p 1) Ratio of Fyl 4 :
®) Male frus ) F tion does not app y
Wit fly is heterogametic. <2 @ Law of Segregall®
@  Inmale experiment. .
Brasshoppers, 50% of sperms have . follow the Princip 5
10 sex-chyg e . iment does not 10L0
\lng_some. (3) Ttlls eXPerlme
of ZHEEE
62. Which in F, is due to incomplete
DOWSE fiollowmg statements regardmg ﬁ: ;):r e
ance.
lsﬁ_@t mfm in flowe lants domin: P
1 erci 00
& _Cen\tn'a.l\(;ell develops into endosperm @ Wh_l/Ch’Q_f_Lbe fo_H’OV_VlEg’_{% o
@ Ovulesg dé‘,l.k\ cholesterol lowering agent :
elop into FF e § ;
\I o ——°P 1nto embryo sac #)  Streptokinase
vary develops into fruit .
©) Zygote dev, lops i R
levelops into embryo (3) Cyclosporin A
63. 4 Statin
: Match the following genes of the Lac operon with .
thplr res o Y,
pective products - i J
( . 87.) Conversion of glucose to glucose-6-phosphate, the
a) ,1‘ €ne ) B-galactosidase first irreversible reaction of glycolysis, is catalyzed
(®) Zigency (i) Permease S C
(© agene (i) Re &
- e el Phosphofructokinase
ene i S R
y ger (iv) Transacetylase @) . Alfolase
S .
elect the correct option. (4)  Hexokinase
@ G © @
: . . 68.  The shorter and longer arms of a submetacentnc
@ @) @ (v) (i) chromosome are referred to as :
@ @ G O @ 1)  q-arm and p-arm respectively
3) m) () (Gv) () m-arm and n-arm respectively
@ @ O @ )  s-armandl-arm respectively
‘ M@d Q-arm respectively
34.  Which of the following muscular disorders is o 5
he rollowing muscular &
inherited ? + Which of the following statements is mcox:rect ?
S @
(1) Myasthenia gravis
(2  Botulism @)
e ®  Viroidslack
Muscular dystrophy Ms are o
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te of a person if the
-t ra
, heart I?

. in the ventricles
S ould PF ~ blood volume 1 : > 4
70 “vhn-‘““mm”t Y Li 11;_- 100 mL and at the end of
o i - ln:‘ end nfdlnsltﬂ = ")(W_
at theé € .- ayvatole 18 ¢
X / :-lentricul&‘“ Sy _ ) (S O
S : 100 beats per minute
1) E 1 = —

' T-)a pbeats per minute \@ — \i@

) = _ : ==

o ﬁ)’//{)o beats per minute Kl

@ 75 beats per minute - ——
71 Select the gorrect option.
2 ——eE——
(1) Each rib is a flat thin bone and all the ribs
i 2> i T e = =
> are connected dorsally to the thoracic
vertebrae and ventrally to the sternum.
) e o A — = o e y:
2

There are seven pairs of vertebrosternal,
three pairs of vertebrochondral and two pairs
of vertebral ribs.

/ /@ﬂ 10*h pairs of ribs articulate

directly with the sternuin.

“@

11th and 12th pairs of ribs are connected to

the sternum with the hél\—’Myaline
cartilage.

—_—_—

7 Match the following hormones with the respective
disease : A
(a) Il/'IS () Addison’s disease
(b)  Thyroxin-< 1 Diabetes insipidus
(© Corticoids iii)  Acromegaly
d) Growth Hormong (v) Goitre
: (v)  Diabetes mellitus
Select the correct option.
@ () (© @
0 o© @ O
—® @ @ 0O
D Qe @ @ @
VTG Gy G 6
¥ r ‘, mﬁch —etollowing is the most importapt cause
exti:(;ltl'l o : nd plants being driven to
Economic exploitation
@ Alien Species invasion
(:) Habitat, loss anq fragmentation

Drought and floogs

10

74. \\'h:r\t 18 the site of perception of Dhm
necessary for induction of “u‘»\'or'\?ﬂ ) DT-EDE"
‘ e — Pl
(1) Shoot apex a0. )
(3) Lateral buds
4)  Pulvinus
75. The frequency of recombination between o
on the same chromosome as 5 moes Sl
distance bet-ween gencs was explaing s
u)—)/Alf/r—ed Sturtevant -
) Sutton Boveri %
(3) T.H. Morgan
4 Gregor J. Mendel
A )
76.  Which 9f the following immune responSe;\F/‘
responsible for rejection of kidney graft?
—— =7 0l adney grait]
(1) vInﬂam atory immune response
\ Wiamd Immune response
(3)  Auto-immune response
(4)  Humoral immune response 82.
77.  Grass leaves curl inwards during very §
weather. Select the most appropriate reasonfy
the following :
OGO~ VIE
(I)  Shrinkage of air spaces in spongy mesoph
(2) Tylosesin vessels
(3)  Closure of stomata
@ ~Flaccidity of bulliform cells
Ak
8!
78. Purines found both in DNA and RNA are:
W Guanincand iasin
2  Cytosine and thymine
(3) Adenine and thymine
Adenine and guanine
s of cell eycle ®
79.  The correct sequence ofphases O 772
1) 856G ->G->M
G, —>S—>G— M
@ M-G 68
_
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82,

83.

h_the 0 .
e Ocatio ~ilg sty
Cry sl Tes w;
Ypt : a W 1th t 1
(b) C}th S’Oleeberkuhn ' \hell‘
© s Ca \ 9 b
IMB e ancregg
@ - eehan, \? Dusteny,
Brunner’ \ ) ol
Select t}NdS A Itestine
@) Orl‘EQt Opti()nfr (v) Livey
0
= S @ efollowing
Lij) ) . d)
@) @ 5
@ . O
(lLl) G) i (iv)
@) (i) () (1.1) (iv)
U
lnSllliILd 1
%t? 08e trang orters ;
G 1 =
@ GLUT 1y
®  aLyp
@ aLy
LN
Which of
- OHOW1
?ll)ltochondrla is incorr;g Stt'? tem\gal-dnents Legarding
Inner memy
() nfoldings gs. LD convoluted with
Mitochondual
matrix cont
Circular DNA moleculgang 2 i;ﬁi:;ngle
3)

0 ;
Luter membrane g Permeable to monomers

; ofca tbohy m
h —zvmes of electron transport are embedded

in outer membrane. . E
,—\

—_—

Polyblend,
plasti

fine powder of recycled modified
as proved to be a good material for :

constructign of roads

(2)  making tubes and pipes

(3)  making plastic sacks
1aXing plastic sa

(4)  use as afertilizer

I 1 tocols did aim for
Which of the following protoc _
reducing emission of chlorofluorocarbons into the

atmosphere ?

(1)  Gothenburg Protocol

@) Geneva Protocol

(3) Montre tocol
{yoto Protocol

86.

817.

88.

\ !

A

89,

Pinus seed can

~gociation.
without fungal assocle t

-d seed coat-
(1) it hasvery hard see

vent
reven
] ibi g that P

4 ds Contain inhibitor
2 1ts see s
germin:\txon.

1S 1 ure.
(3) itsempbryols immat oY
: iatl rth myc
has obligate association W ith my
it has g

_ ts the ining
<e secretion protec
: s whose secre —— enzymes-
wsllt;na fract from various &
of gastro-1mntest 2= — ———
f gastro-intes

xyntic Cells
@  Duodenal Cells
(3)  ChiefCells
4)  Goblet Cells

ing 1 ethod of
Which one of the following 18 not a m

3 el
1 ] rsity !
in situ conservation of biodiversity

)/m;ical Garden

@  Sacred Grove

(3)  Biosphere Reserve

(4)  Wildlife Sanctuary
\__-’

Select the incorrect statement.

reeding selects harmful recessi_ve genes
that reduce fertility and productivity.
e— \‘

@)

Inbreeding helps in accumulation of superior
genes and elimination of undesirable genes.
ESE——— ——— e ——— e
Inbreeding increases homozygosity.
s \

@)

(4) \ Inbreeding is essential to evolve purelines

in any animal. g
Res1§%_ei312()()lnL? s
D 2200ml, LSO D
@ 2700 m], g ol . ool
1500 mL, “ans S
@ 17001,
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100.

D2ym
tb e € or eta) ;
®) A\nzxme Droteraon that s ¢
oun Catal - | = etic gro
Select rosthém&cict_lvm M
the ¢q %Mts
trect opt; ed apo
@®  Boy, eRtion: — —XD%yme
Gl (A) ang ®) are £
: is false by (gy
Bot 18 true,
h (A) and (B) 5
(4) re true‘

(A) is trye but (B) is fq]
se

10
L. Match the et

S1

:ed to move
103. The ciliated epithelial cells aré requ;::ction. e
particles or mucus'irl a S—Ri%»’cﬁﬁﬁn;
humans, these cells are mainly pr

(1) Eustaehian tube and Salivary duct

9y~ Bronchioles and Fallopian tubes
(3) Bileduct and Bronchioles ,
(4) Fallopian tubes and Pancreatic duc

3 2
n statements 1s correct ?

followi .
e ntlayer which

Cornea is conveX, trfmspare

18 1)_1 ‘Cularlsed.
. .
Orllea COI)SIS S Of dense matl'lx (o) CcO ag

and is the most sensitive PO

transp arent

104. Which of t_:/l’f
@

and
is an external,

= S:é’%%\ﬂroteinacious coveriﬁ"—‘rgo the : E“
eye-ball. o
(4) Cornea consists of dense connect'lxﬁfl_s‘s_s_ue P"{
omd can repair itself. =
ST, u

105. Which of the following contraceptive methods do
involve a role of hormone 2

)J\—CuT, Pills, Emer ptives

@) ' Pills, Emergency contraceptives, Barrier
methods

)/ Lactational amenorrhea, Pills, Emergency

2z ;
contracepfives

(4)  Barrier method, Lactational amenorrhea,
Pills

106. Match the Column - I with Column - 11 :

Column,;]

Column -I1
(@ P-wave Denolarisats
e ——1 polarisation of

ventricles

Repolarisation of
ventricles

Coronary
ischemia

size of T - wave E:rli’zlaﬁsation of
Repolarisation of
S 1 at.ria

elect the correct option

O @ O ¢ G ATl
@ i) ()
@ @ @ s

S . nids wj 3
.._(Jie‘ § with their correct brain
2)  Homo habilis o

(b) o 1 00 cc
o é(m\neawensis @ 1350cc

Homo erect

n —& (@) 650-800cc

@ Homo sapiens (iv) 140

- _ 0ce
Select the correct option.

@ Gk © @
1 @ G O G
@ v @ O @
@ @ O G o

(i) (D) _(1_)_, (iv)
What is the fate of the male gametes discharged
in the synesgid
@ One fuses with the egg, othex(s) fuse(s) with

B id nucleus. _
e fuses with thoegg and oter 2 ek
central cell nuclei. .‘
ate(s)
i thecgg other P

@ omiEe

in the synergt

with the eg8

@ @ @

Scanned by CamScanner



14

(9T

X

Scanhed by CamScanner

S1
107. Select the hormone-releasi :
Devices. releasing Intra-Uterine 111. Select the correct sequence for ty,
cells in male reproductive systep, T,
(1)  Progestasert, LNG-20 " %
. T (1) Seminiferous tubules — Vas
ppes Loop, Multiload 375 — Epididymis — Inguia e,
(3  Vaults, LNG-20 — Urethra Na o
@) Multiload 375, Progestasert @)  Testis — Epididymis - v,
— Vas deferens — Ejacula{ffer"'
Inguinal canal Oy .8
108. U L, - o
o s axtificial kidney during hemodialysis P -
. estis — Epididymis — Va
@  Nitrogenous waste. build-up in the body — Rete testis—Inguinal Can:f e Lefe-
<N
=S 2 Tey
(b) Nozitel};glnLtlQn 0fexﬁc‘§pg@ssium jons (4) Seminiferous tubules — Re :
©  Reduced ab : = I0Ed — Vasa efferentia — p...
absorption of cal i r Epigiy
gastro-intestinal traétﬁwls from — Vas deferens — EJ‘aCulatodld":
, — Urethra — Urethral meatyg y g .
Reduced RBC production
Which of.' the followmg_w most | 112 Following statements describe the chay,
appropriate ? of the enzyme Restriction Endonucleggs ('}eﬂg.
the incorrect statement. ey
(c) and (d) are correct O o
enzyme cuts the sugar-
(2)  (a)and (d) are correct backbone at specific sites on eacihsiizﬁ
(3) (a)and (b) are correct (20 The enzyme recognizes g |
palindromic nucleotide sequence mthpe(,
(4)  (b) and (c) are correct el 13
(38)  The enzyme cuts DNA molecule at ideng
position within the DNA. “
109. A gene locus has two alleles A, a. If the frequency _
of mﬂel_e Ais 0.4, then w}@e (4  Theenzyme b“;dlsl DNA at specificsite,
fr”_—e quency of ?—thogn ozygous dominant, heterozygous cuts only one of the two strands,
and homozygous recessive Mals in the
population ? =4 113. Which of the following statements isincony 11
, 0.16 (AA); 0.48 (Aa); 0.36 (aa) Widia are produced exogenougly,
' ascospores endogenously.
@  0.16 (AA); 0.36 (Aa); 0.48 (aa)
\ Mste have filamentous bodies withl
(3) 0.36 (AA); 0.48 (Aa); 0.16 (aa) thread-like hyphae. :
(4)  0.16 (AA); 0.24 (Aa); 0.36 (aa) (3)  Morels and truffles are edible delicaci:
Miceps is a source of many alkaloidsz 9
110. The Earth Summit held in Rio de Janeiro in 1992 LSD.
was called :
(1)  to assess threat posed to native species by | 114 Colostrum, the yellowish fluid, secreted byn
iDWIGS. during the initial days of lactation1s very esse
: to impart immunity to the newborn infantsbe
’)2)/@;&3% steps to discontinue use of it contains :
CECs that were damaging the ozone layer.”
S (1) Macrophages
3) to reduce CO, emissions and global | !
©®) Caritish s S CCARSe B0 munoglobulin A
warming. - _— e
(4) for conservation of biediversity and ® N w
Ls'u?fﬁ'ifr?lgle utilization of its benefits. (4  Monocytes
\
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115. What is the direction of m
phloem 9

@

Downward
\‘)‘J)/Bi-;ijectional

®3)  Non- tidirectional
D%/‘Tp/m::iu

116. D i In’
rug calleq He_rom 18 synthesized by :

ovement of sugars in

(@)) glycosylation of morphine
@) nitration of morphine
methylation of morphine
acetylation of morphine
117. Se@&hmaggrrec%trolagents.
(1) Ogcillatoria, Rhizobiym Trichoderma
2 Nostoc, Azospirillium, b
uclteopolyhedro virus
3)

Bacillys thuringiensi

virus, Aphids

k VTrLg_h_oderma, Baculovirus,
RO LCoUL,

Bacillus thuringiensis

18. \C% f_ibanavahn Ais \
(€))
2 a pigment

) @ an alkaloid

(4) an essential oil

S, Tobacco mosaic
=9DAacco mosa
a lectin

19. Which part of the brain is responsible for
thermoregulation ?

(@)} Corpus callosum
2) Medulla oblongata

(3)  Cerebrum
,\&)/Hypeothalamus

0. Which of the statements given below is not true
tion of Annual Rings in trees ?
about formati

(1)  Activity of cambium depends Elm\aﬂ'atior% :
in climate. s e
(2)  Annualrings are not prominentA;in trees of
: temperate region. -
Annual ring is a combination f’f spring wood |
1)3)/' and autumn wood produced in a year.
@ Differential activity of cambium causes light

and dark bands of tissue - early ax}d late

wood respectively.

S1

i t ?
121. Which of the following statements is not correc

L/(l osomes are membrane bound structures.
ys e
2)

Livsosomes are formed by the process of
ys

kaging in the endoplasmic reticulum.
packagingin the endop:astiis —

Lysosomes have numerous hydrolytic
ys0

enzymes. =
The hydrolytic enzymes of lysosomes a
active under acidic pH.

3)

@)

1 wi heir
wi organisms ith t
122. Match the following g

respective characteristics :
Jectivecia e

@@  Pila @  Flamecells
(Z) Bombyx /{ﬁ{ Comb plates
(©  Pleurobrachy @iii) Radula
] i Malpighian
d)  Taema @iv) ot upie 4
Select the correct option from the following :
@ () @©@ @

O @ Gv @ @
@ @) @ G O
@ @ @ O @

i @) @v) @ @

123._JRegpiratory Quotient (RQ) value of tripalmitin is:

@ 0.0
@) ,'199—
® 09
(DR (N7

124. What triggers activation of protoxin to active Bt
toxin of Bacillus thuringiensts in boll worm 7

(1)  Alkaline pH of\ggt__

@) cidic pH of stomach
()  Bodytemperature
(4)  Moist surface of midgut

125.  Which of the following pairs of gases is mainly
responsible for green house effect? *

(D Nitrogen and Sulphur dio:
(6))
@

n e B ©

Scanned by CamScanner



S1

126. Persistent nucellus in the seed is known a5 -

(1)  Hilum

(&) Tegmen
\‘/(aa/ChilD!aza
(4)  Perisperm
127. In a species, the weight of newborn ranges fy
2 tc_) 5 kg. 97% of the newborn _With B ;m
weight between 3 to 3.3 kg survive wheregg gggo/eo

of the infants born with weights from 2 to 9 5 k
or 4.5 to 5 kg die. Which type of selection pr(;cesg
s

is taking place ?
«/ﬁfupﬁve Selection
() Cyclical Selection
(3)  Directional Selection

(4  Stabilizing Selection

128. Select the correctly written scientific name of
Mango which was first described by

Carolus Linnaeus :
(1) Mangifera indica
(20 Mangiferal ndica

(3) Mangifera indica Car. Linn.
, ‘Mangifera indica Linn.

129. Variations caused by mutation, as proposed by

Hugo de VIies; are:
(1) smalland directional
(2 smalland directionless

] Tandom and directional
(4) random and directionless

130. Whatis the genetic Which_ggindividual
has an overall masculine development,

eynaccomastia, and is sterile ?

(1) Edward syndrome

(20 Down’s syndrome

(3)  Turner’s syndrome
\)ﬁ/mi}nefelter’s syndrome

181. Howdo : cheuular
activities ?
@ ngafmgg_cydm AMP located-on-the cell
“membrane. 2

Using-aquaporin ¢ hannels as second
messenger.
Changing-the permeability of the cell

(6))
membrane.
.-——'//
@ Binding to DNA and forming a
ene-hormope complex.

16

=

e |

132.
2 i\}’l}:;cr}:rt)l:ieut;zﬂzowmg organisms with the Prody,
@  Lactobacillus 1) Ch
()  Saccharom vcf"><:6k o
cerevisiae o
(©  Aspergillus niger (1)  Citrie A,
(d)  Acetobacter acel.i\ (@v)  Bread 2

(V) AceticAg d

Select the correct option.
@ (b (© @
O @ @ » @
@ w @O @) (v
@ @ @ @ Gi)
@ @ @ @

133- Whlch Ofthef l.l i 10C 0.
0. meg can be used as a b'O
ag@watment Ofplant disease L

(1) Anabaena

@) Lactobacillus

moderma

4)  Chlorella

Xpres equence Tags (ESTs) refers to:
DNA polymorphism

2  Novel equences
! enes expressed as RNA
L= S

(4)  Polypeptide expression
‘_—.\——-‘

135. Extrusion of second polar body from egg nucleus
B

ofcurs :
(1)  before entry of sperm into ovum
(2) simultaneously with first cleavage

after entry of sperm but before fertilization

G
(4) —after fertilization
136. The number of sigma (o) and pi (m) bonds b
pent-2-en-4-yne is:
1) +5bonds and 2 mbonds
-(2) 13 o bonds and no ™ bond
@ 100 bonds and 3 bonds
@ 8 o bonds and 57 bonds
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